

Department of English Jagannath University, Dhaka

Professional Program

Admission Notice for Spring 2026

Programs:

MAin English (Literature and Cultural Studies)

&

MA in English (Applied Linguistics and ELT)

Program Highlights

- Semester System
 18 months (Flexible up to 60 months)
- 48 Credits
 (Waiver available for eligible students)
- Classes are held on Fridays & Saturdays

Schedule

- 01. Last date of application: 17/12/2025
- 02. Written test at 10:00 am on 19/12/2025
- Viva-voce at 11:30 am on 19/12/2025
- 04. Results of admission test 19/12/2025
- Admission and course registration from 21/12/2025 to 24/12/2025

Orientation and Class

09/01/2026

Who can apply?

Candidates having -

- Bachelor (Hons) in any discipline
- Bachelor (Pass) with 1 year relevant experience
- Application eligibility: 6 points

Apply online www.jnuenglish.edu.bd



Eligibility details can be downloaded from www.jnuenglish.edu.bd

Contact: Phone: 01404731379, 01711263797, 01716051674

Phone: 01712495574, 01756947308, 01748500728 (Help for Online Application)

Jagannath University, Dhaka Department of English

Application Eligibility for M.A. in English (Professional) Program in Spring Semester 2026 & Other Necessary Details of the Program

Candidates having any one of the following qualifications can apply for enrolment in M. A. in English (Professional) Program at Jagannath University:

- 1. Bachelors (Hon's) in any discipline, or
- 2. Bachelors (Pass)

Minimum qualifying points for application is 6, and the points will be calculated in the following manner:

SSC or Equivalent

SSC	O Level	Qualifying Points
GPA/Division	GPA	
≥ 4.0/1 ST	≥ 3.0	3
$\geq 3.0/2^{\rm ND}$	≥ 2.5	2
$\geq 2.0/3^{\rm RD}$	≥ 1.0	1

HSC or Equivalent

HSC	A Level	Qualifying Points	
GPA/Division	GPA		
≥ 4.0 /1 ST	≥ 3.0	3	
≥ 3.0/2 ND	≥ 2.5	2	
≥ 2.0/3 RD	≥ 1.0	1	

The GCE passed applicants have to earn at least grade C in any five subjects in their O Level and have to earn at least grade C in any two subjects in A level.

Bachelor and Master Program

Degree	1 ST Class/ CGPA	2 ND Class/CGPA	3 RD Class/CGPA
Bachelor's degree (Pass)	4	3	1
Bachelor's degree (Hons) or Equivalent	5	4	2
Master's degree	1	1	1

Four Year Bachelor Program

1041 1041 24010101 11061411			
CGPA	≥ 3.5	3.0 to < 3.5	2.5 to < 3.0
Points	5	4	3

Graduates fulfilling the above-mentioned criteria can apply in the prescribed form available at www.jnuenglish.edu.bd. You can also visit www.jnu.ac.bd or the Facebook group: jnuenglisheve for further information.

Evaluation Criteria of Admission Test:

An applicant has to obtain a minimum qualifying score in the admission test set by the admission committee to qualify in the written test. To assess an applicant's eligibility for admission to the MA (Professional) program, total marks allocation will be as follows:

Evaluation Areas	Marks Allocated
Written Test	80
Interview	20
Qualifying points in SSC, HSC or Equivalents, Bachelor	72 (Highest qualifying points will be 12, so 12×6=72 and
and Master Program	lowest will be 6, so $6\times6=36$)
Total	172

Details about the Courses:

- A student is required to complete 15 written courses each course consisting of 3 credits—and a viva-voce of 3 credits to earn the degree of Master of Arts in English.
- Students may be granted waiver of maximum 9 credits if they have completed similar courses in their undergraduate level.
- The three courses on which waiver may be granted will be offered in different semesters as per the decision of the coordination committee of the program.
- A student shall have to register minimum two courses and can register maximum five courses in every semester.

Cost of the Program:

Total Courses : 16 (Each course is of three credits)

Cost per course : Tk. 7,500, so cost of 16 courses: $(Tk. 7,500 \times 16) = Tk.1,20,000/-$

 Admission Fees
 : Tk. 10,000

 Lab Fee
 : Tk. 2,000

 Seminar Fee
 : Tk. 2,000

 Development Fee
 : Tk. 1,000

 Total Cost
 : Tk. 1,35,000

Cost of First Semester:

Sl. No.	Particulars	Amount in Taka
1.	Admission Fee (one time)	Tk. 10,000
2.	Lab Fee (one time)	Tk. 2,000
3.	Seminar Fee (one time)	Tk. 2,000
4.	Development Fee (one time)	Tk. 1,000
	Total	Tk. 15,000 +
5.	Course Fee	Tk. $7,500 \times 2 = \text{Tk. } 15,000 \text{ (for 2 courses)}$
		Tk. $7,500 \times 3 = \text{Tk. } 22,500 \text{ (for 3 courses)}$
		Tk. $7,500 \times 4 = \text{Tk. } 30,000 \text{ (for 4 courses)}$
		Tk. $7,500 \times 5 = \text{Tk. } 37,500 \text{ (for 5 courses)}$

Total amount to be paid in first semester:

- 1. Tk. 15,000 + Tk. 15,000 = Tk. 30,000 (for students taking 2 courses)
- 2. Tk. 15,000 + Tk. 22,500 = Tk. 37,500 (for students taking 3 courses)
- 3. Tk. 15,000 + Tk. 30,000 = Tk. 45,000 (for students taking 4 courses)
- 4. Tk. 15,000 + Tk. 37,500 = Tk. 52,500 (for students taking 5 courses)

Cost of Other Semesters (Per Semester):

Sl. No.	Particulars	Amount in Taka
1.	For students taking 2 courses	Tk. $7,500 \times 2 = \text{Tk. } 15,000$
2.	For students taking 3 courses	Tk. $7,500 \times 3 = \text{Tk. } 22,500$
3.	For students taking 4 courses	Tk. $7,500 \times 4 = \text{Tk. } 30,000$
4.	For students taking 5 courses	Tk. $7,500 \times 5 = \text{Tk. } 37,500$

92,000	এমএ ইন ইংলিশ (প্রফেশনাল) প্রোগ্রাম	
	ইংরেজি বিভাগ	
	জগন্নাথ বিশ্ববিদ্যালয়, ঢাকা	
আবেদন করার তারিখ ও সময়	১৭ ডিসেম্বর ২০২৫ রাত ১২:০০ ঘটিকার পূর্ব পর্যন্ত যে কোন সময় আবেদন করা যাবে।	
আবেদন করার নিয়ম	Step-1: ইন্টারনেট ব্রাউজারে প্রবেশ করে Address বারে www.jnuenglish.edu.bd লিখে প্রয়েবসাইটে প্রবেশ করে মেনুতে Apply Online এ ক্লিক করলে আপনার কাঙ্গিত Stream এবং admission circular পাবেন। এখানে Apply Now বাটনে ক্লিক করলে Admission form পাবেন। Admission form টি পূরণ করে Submit করলে মোবাইলে আপনার login Id ও password পাবেন। Admission form Submit করলেই Payment Option পাবেন। bkash এ পেমেন্ট করে যে মোবাইলে দিয়ে পেমেন্ট করবেন তার নাম্বার ও Transaction নাম্বার দিয়ে Submit করতে পারবেন।। অথবা পরবর্তীতে ওয়ের সাইটের হোমপেজে Sign in বাটনে ক্লিক করে আপনার login ID ও password দিয়ে Sign in করে পেমেন্ট করতে পারবেন। Step-2: আপনার পেমেন্ট কমপ্লিট হলে আপনি Admit Card ডাউনলোড করার জন্য মোবাইলে মেসেজ পাবেন। তখন আবার হোমপেজ থেকে Sign in করে Admit Card ডাউনলোড করতে পারবেন। Step-3: Admit Card নিয়ে নির্ধারিত তারিখে পরীক্ষা দিয়ে যদি Selected হন তাহলে আপনার মোবাইলে মেসেজ দিয়ে জানিয়ে দেয়া হবে।	
যে ভাবে ফি জমা দিতে হবে	bkash এ Personal Account থেকে ভর্তির আবেদন ফি bkash মার্চেন্ট একাউন্ট নম্বর ০১৭৮৬৫০৯৩৮৮ তে টাকা জমা দিতে হবে। নিম্নোক্ত নিয়মানুসারে ভর্তি ফি প্রদান করা হবে। 1 2 3 4 *247# *247# 1. Send Money 2. Send Money to Non-bkash User 3. Buy Airtime 4. Payment 5. Cash out 6. My bkash 7. Helpline Press '4' to select Payment Mobile phone 5 6 Reference 1 No. 1 Payment To:01786509388 Amount: TK1050 Reference 1 Counter: 1 Enter PIN To Confirm: Payment TK. 1020 To 01786509388 Successful Ref: xxxx Counter 1 Enter PIN to Confirm Fee Tk. 0.00 Balance Tk. xxxxxxx Trx ID: xxxxxx At 09/01/2022 12:30	
শেষ ধাপ	আপনি যে ট্রানজেকশন নাম্বার পাবেন তা ওয়েবসাইট ও মোবাইল নাম্বার সহ এন্ট্রি দিন এবং সাবমিট করুন।	
Admit Card প্রিন্ট	ইন্টারনেট ব্রাউজারের Address বারে www.jnuenglish.edu.bd লিখুন। এরপর যে	
	পাতাটি ওপেন হবে সেখান থেকে Admission ট্যাব এ ক্লিক করুন। এরপর সেখানে একটি Drop Menu পাবেন, উক্ত Menu থেকে Admit Card ক্লিক করুন অথবা হোমপেজ	
	থেকে Sign in বাটনে ক্লিক করুন। তারপর Loging ID ও Password দিয়ে Submit বাটনে	
	ক্লিক করলে Admit Card option টি দেখা যাবে। এরপর Print Option থেকে	
	Admit Card টি Print করে নিন।	